
a)
List all the producers in this story.


______________________________________________________________________

b)
List all the consumers in this story.


______________________________________________________________________

c)
In the box below draw a food chain from the story that contains Sooty.

d) These are some events that can take place in a beech forest.
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Place the above events in the order that they would probably happen from first to last.  The first one has been done for you.
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	Scoring:
	Answers/Responses:
	Y8 (05/00)

	1 mark

(for all 3 correct)
	a)
	Lettuce, (pond) weed, grass.
	very difficult

	2 marks

(for all correct)

or
1 mark

(for 5-6 correct with no extras.)
	b)
	Cat (Sooty), sparrow (small birds) caterpillars, snail, slugs, kingfisher, fish/goldfish.


	2 marks (
very difficult

1 mark (
difficult

	1 mark
	c)
	A wide range of food chains are possible, but

they all need to begin with a producer and contain the cat, e.g.,

grass ( cat

lettuce ( slug ( sparrow ( cat

pond weed ( (gold)fish ( kingfisher ( cat

NOTE: Food chain organisms could be drawn, but must have arrows present and showing correct direction.
	very difficult

	Total:  4 marks


	Scoring:
	Answer/Responses:
	Y9 (03/99)

	2 marks

(all correct)

1 mark

(if one out of the sequence)
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[Note: 4 and 6 are interchangeable.]
	all correct –

very difficult

1 error –

very easy

	Total:  2 marks


My cat Sooty likes to eat small birds like sparrows.  This is a pity because these birds eat the caterpillars, snails, and slugs that feed on our lettuces.





One day Sooty was watching a kingfisher looking at the goldfish feeding on the weed in the garden pond.  Sooty likes eating goldfish too, but the kingfisher was faster than she was.  She missed out on the goldfish, but nearly got the kingfisher!  It would have been a good tasty meal.





Sooty likes to eat grass too.  It cures her indigestion!





Mice and insects which feed on beech tree seeds increase in numbers.





Stoats which feed on mice and insects increase in numbers.





Food supply begins to decrease; stoats feed on birds.





The next year beech tree seeds are plentiful.





One year, beech trees flower heavily.





Birds which feed on mice and insects increase in numbers.
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